Trig Ch 1 Notes

1.1 Angles, Degrees, and Arcs:  Page 10-12 #51,55,1-13odds,14-16,26-34E,39-41,47. Need a protractor and ruler tomorrow.
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2 positive angles are complementary if they sum up to 90 degrees.

2 positive angles are supplementary if they sum up to 180 degrees.

Angles are measured in:

1. degrees:

a. Decimal Degrees (DD)

b. Degrees-Minutes-Seconds (DMS)

2. radians 

Example 1: Convert 128°42’8” to decimal degree form. Round to 3 decimal places.
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Example 2: Convert 72.103° to degree-minute-second form.

Proportion relating central angles and arcs.
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Example 3: How large of an arc is subtended by a central angle of 50.73° on a circle with a radius of 5.00m? (2 decimal places)










   3 significant figures

Example 4: If the moon subtends an angle of 0°31’5” on the surface of the earth when it is 239,000 miles from the earth, estimate the moon’s diameter to the nearest 10 miles.
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Assume J is the center of an invisible circle with radius 239,000 miles.  Then the central angle is 0°31’5” and we can approximate the diameter of the moon as the arc length of the large “invisible” circle.

  3 significant figures
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1.2 Similar        s:  Page 18-20 #21,23,25,29-321-4,9-19odds.
Euclid’s Thm: If 2      s are similar, then their corresponding sides are proportional. 

             B                                                  B           

a                            c                        
                                    a’                                c’

C            b              A 

                                     C’                      b’                                 A’
If        ABC~       A’B’C’, then
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Capital letters are angles; small letters are sides.

2      s are ~ by AA (2<s in one       are the same measures as 2<s in another     ) .

Do explore/ discuss 1 on page 15.

Ex.1 A tree casts a shadow of 31 ft. at the same time a 5.0 ft. vertical pole casts a shadow of 0.56 ft. How tall is the tree? 
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                          T         
                                                  5.0’
                                                          

                                              31’                                  0.56’                          

2 triangles are ~ by AA
2 significant digits
Ex. 2 (book ex): (need protractor and ruler) Find the length of the proposed vent.

Start by making a scaled drawing using ruler and protractor. 


one significant digit

Do #21

1.3 Trig Ratios and Right Triangles:  Page 31 #1-59 every other odds, 69-72.

SOH, CAH, TOA help some students remember trig ratios.
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Why Cosine, Cosecane, Cotangent?

The “Co” means complementary or sum up to 90º, so
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So [image: image25.png]sin 10° = cos 80°, sec42° = csc 48°, tan 85° = cot 5°




Ex.1 Evaluate to 4 sig digits using a calculator: 

a) Cos38.27º 
b) Sin 37º44’
c) Cot 49.82º
d) Csc 77º53’

Ex.2 Find each acute angle θ to the accuracy indicated:

a)Tan θ = 1.739 (to 2 decimal places)
b)[image: image27.png]6 = sin™! 0.2571 (to the nearest 10")




c)
(to the nearest minute)
Ex.3 Solve this right triangle if θ=28.3º, c=62.4 cm. This means find all missing sides and angles.
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Ex. 4 Solve the right triangle to the nearest 10’ for the angles and ? Sig digits for the sides if b=23.2 km, c=30.4 km
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1.4 Rt       Applications:  Page 38#1-21odds (skip 11 and 17), 37-41odds.

Warm Up:
What is the minimum number of sides and/or angles that must be given in a right triangle in order to solve for all the remaining angles and sides? Explain in complete sentences.

Ex.1 Redo mine shaft problem without protractor and ruler


A’
    300 ft
     C’




     300 ft.        
       
                                                         2

                             Mine shaft                






     B’

Def: Angle of elevation: Angle measured from horizontal up to line of sight

                                                     Angle of elevation=29

                  29
                            

Angle of depression: angle measured from horizontal down to line of sight

   

                                    75


What is true about the < of elevation and depression? 
                                

Ex. 2 The horizontal shadow of a vertical tree is 23.4m long when the angle of elevation of the sun is 56.3. How tall is the tree?

                   
                          J         
                                                  
                                                                     56.3                                

                                             23.4 m

Ex.3 The distance from Earth to the sun is approx. 93,000,000 mi. The largest angle that the Earth-Mercury line makes with Earth-Sun line is 23. How far is Mercury from the sun?




      E

_______________ Read page 45-47 to review for the quiz, then do page 47 #1-14,18,21-23,25-28,31-34,42.
_______________ Ch 1 group quiz, and print out ch 2 notes

_______________ Correct group quiz

_______________ Ch 1 test
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